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L oighsn eellunisedr Qeafseng STSHmnsE
FMjHSene6l

(A) smEmsSWFaEH6T (B) neiplanga &6l
(C) sngeunsevtig6i (D) usveveufESETT
Ajanta paintings belong to the period of
(A) Chalukyar (B) Rastrakutas

(C) Satavahanas (D) Pallavas
2. MG 1G] UHSEOILBES Sh60oT(h

——————————— SHG0

(A) &.19.1211 (B) &.19.1311

(C) &.1.1212 (D) £1.19.1312

Malik Kafur arrived in Madurai in

(A) 1211 AD. (B) 1311 A.D.

(C) 1212 AD. (D) 1312 A.D.

3. unessngwiiseflett WHSW @&GW0E __________
G

(A) BHB51> (B) graisid

(©) wremen (D) @Sy

The Pandiyas mainly imported the item of

(A) Ivory (B) Gold

(C) Elephant (D) Horse

4. smpHullest SpFlwed (GEHEUNS S(HBHLILILL6uly
wmg?

(A) &G &Hnmns LimesTies)

(B) W.C. unevtijed)

(C) Nfetr FBAHTLIMEL

(D) Gamumev H(HeipeseT G&HMe:G6v

Who was the Political Guru of Gandhi?

(A) Surendranath Banerjee

(B) W.C. Banerjee

(C) Bipin Chandrapal

(D) Gopala Krishna Gokhale

5. sevigl sinflwev sHETSHMHENs “FnevvrsSlwiy”
steotLl GummLUILIG L6y wmy?

(A) smognay

(B) C.N.6t1650T15, | 63217
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(C) C.@nmegGamumevngemifl

(D) S. #sHwepiss

Whom often referred as “Chanakya” for his
diplomatic skills?
(A) Kamaraj (B) C.N. Annadurai

(C) C. Rajagopalachari (D) S. Satyamurthi

6. CN. OictoTeromglen] SUTHEHEE 61HS
LI6L&60I606S105LD (Lpemestall] LILLLD eulprkislwg)?

(A) 1655T6BBTT LISLSHED60HSLELD

(B) {6B5T6BBTITOENEL LIGVSHED60SHBHLELD

(C) wessllLimeb LIELBHEMEVESLPSLD

(D) uMHWNT LI6L&HEMEVEBLELD

C.N. Annadurai was conderred doctorate by

(A) Anna University

(B) Annamalai University

(C) Manipal University

(D) Bharathiyar University

7. “pesnisngnn” ees1m HIenev er(pSHlwelr w?

(A) smym e$Gam (B) =1y6v QU

(C) Q&g uettipsy (D) glenél sray

Who wrote the book of “Rasagangadhara”?

(A) Dara Shukoh

(B) Abul Faizi

(C) Jaganatha Panditha

(D) Tulsidas

8. 1907 &ns Weneyss Um@ au.2.4. womid wmm
Gz Flw gemeveauljsenmmed QFHMLASILILL FhISLD 6157
(A) QFctten e &858 &risLD

(B) Qg 6t16m)68T LOSTEQEET STBIGLD

(C) QFetTEmET LMMSLONGT FrhiGLD

(D) Q&etTemenT 82687 FrhIGHLD

After the Surat split in 1907 an association was
started by V.0.C and nationalist

(A) Chennai Swadeshi Sangam

(B) Chennai Mahajana Sangam

(C) Chennai Baharathamatha Sangam
(D) Chennai Jana Sangam
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9. fli(meipevtIGHEuTMULIfletT D4 H5 Hmevld
(A) £.19.1409 (pgev 1429 sueniy
(B) #1.111.1509 (ps6v 1529 susmiy
(C) #.191.1609 (pgev 1629 sueniy
(D) &1.19.1709 (pg6v 1729 euewmiy

Reign of Krishnadevaraya was
(A) From 1409 upto 1429 A.D.
(B) From 1509 upto 1529 A.D
(C) From 1609 upto 1629 A.D.
(D) From 1709 upto 1729 AD.

10. vy Sl ___________ 1Fljeunaid
G55 Qeuflsamens smHEDG

(A) waHW e (B) &lymow

(C) uem_ D) on&mesoiid

Manur inscription provides an account of

________ administration
(A) Central (B) Village
(C) Military (D) Provincial

11. 1857 o0 pevo1(h QLIMENY LIELEE0IVESHLPELD
SW&eeTIL b Uevsemesss  niflufle
SIENSSLILILLG)?

(A) 6V6BBTL 65T LIGLEHEDEVEHSHLSLD

(B) LIEhEFMLI LIL&HED6VE BB

(C) QL6v6S) LILEEDEVEBHLBLD

(D) 10w &&6T L6L&EmEVESSPSHD

The university of Madras was set up in 1857 on the
model of the

(A) London University

(B) Punjab University

(C) Delhi University

(D) American University

12. yerfiss sevionewt wgINTemeu Hhlevfl (Pa108) 61H5

S4,600T(H (F6MMWIMIgETTI)?

(A) 1001 (B) 1008

(C) 1018 (D) 1024

When was Mahmud of Ghazni plundered the holy
city of Mathura?

(A) 1001 (B) 1008

(c)1018 (D) 1024
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13. Amritsar “QunihCaneflev” s igwieury wmj?

(A) B Tmog e (B) 6@ <ioigney

(C) oS (D) & irkiss

Who built the “Golden Temple” in Amritsar?

(A) Guru Ramadhasar

(B) Guru Amardhasar

(C) Guru Nanak

(D) Guru Angath

4. G mbrdenr  FLisem  eTeueunm)
SIenP&SLILILL 60TI?

(A) &ssMeN (B) mmbgmiflery

(C) gmessr@L60Iy (D) umessfleiv

Guru Ram Singh's disciples were called as

(A) Kookas (B) Namdharis

(C) Sandelas (D) Panis

15. Uesteu(meuesteummiei “mnsifesSletr Qg mliigeons”
&(HBSLU(Uen6 6157

(A) wempriGUMPey

(B) sevnggmy hlensttoyd FetTevtrhighein
(C) wgid
(D) opdmi Fwbeustl
Which of the following is regarded as “Cradle of
Civilization"?
(A) Rainfall
(B) Cultural monuments
(C) Religion
(D) River valleys
16. ‘54) (2LetBLemL MIHE) QUPSHSD Qeurs)
LA sMvSHlev QUlSSILLLS)?
(A) surgest Ganevigriisiy
(B) &miyest sumelenn LiliyLy
(C) Geusv@evetved) LiliLy
(D) eflsvefiwib Quesstignar Ll
The practice of “Sati” was abolished during the
administration of
(A) Warren Hastings
(B) Lord Cornwallis
(C) Lord Wellesley
(D) Lord William Bentinck
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17. @bHw Ca&w snriSlnHlest 61bs MGG HMHE -
@iellett QUUBSSHeMS eJHMIs C\mevsTLS)?

(A) sorgay LABI(H (B) snn&d) wrmn(
(C) sevagsm wmpr( (D) uwumi s

Which session of the Indian National Congress
approved the Gandhi-Irwin pact?

(A) Lahore Session

(B) Karachi Session

(C) Calcutta Session

(D) Bombay Session

18. S1p& s evoTLsumi6iT 615 6oL L GLevflwg et Hng)?
(A) epLemL60

(B) emmsivioestenesTL

(C) 26vslumeniol.

(D) Fevevl_

Which of the following is the ore of titanium?

(A) Rutile (B) Hausmannite
(C) Wolframite (D) Scheelite

19. Hetreu(meucsroumnilev 618 symuilerv smyo?
(A) B2Hs (B) NH;

(C) LialHy4 (C) AlH;

Which is a Lewis base?

(A) B2Hs (B) NH;

(C) LialHy4 (C) AlH;

20. smejevtey MM werfly eI igzviaileneot
6TEUGUIM)| S{6TIPS>856VIMLD?

(A) QA5 (WL ewL

(B) 5@zm@evfl&560 (L6t

(C) BB#meLAGHSH (WL 6w

(D) QLBeom@evdlEg6v (LpL 6B

Human ovum contains no yolk. How can we call it?

(A) Alecithel Egg (B) Isolecithel Egg
(C) Mesolecithel Egg (D) Telolecithel Eqgg

21. euwgy WS\ Hlemevulley 24 6TTIBHEHES) 6THS
&l Quifigneugmey, AmBi sy unSliuenLwb?
(A) usv@urr-w,flSred &L

(B) uGnmervGLL &L

(C) pbLieve0I
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(D) Qa&ermiiuny &l
Which gland enlarges, after the middle age of the

male people leads to interrupt urination?
(A) Bulbo-urethral gland

(B) Prostate gland

(C) Ampulla

(D) Gowper's gland

22. QuprasLelleor #gnafl 2 eujiflwsSHlest iemey
(A) 45% (B) 35%

(C)33% (D) 38%

The average ocean salinity is

(A) 45% (B)35%

(C)33% (D) 38%

23. eYevs: Fam|s(EhHsElenL Guiwnes Q5 Meneva]
(A)10 A (B)1A

(C)10®%m (D)10%® m

The distance between the molecules is

(A)10 A (B)1A

(C)10®%m (D)10%® m

24, SLLLEBISEHSSS QeusiTememuIgLILISM (S
UwestuD smevflws Slett GO 6157

(A) smevdlwibd smyLGesTL

(B) smevdlwid smamL jrsens(h

(C) smevdlwid o4 &em&(h

(D) smevdlwid F6vGuiL

What is the compound of calcium used in white-
washing buildings?

(A) Calcium carbonate

(B) Calcium hydroxide

(C) Calcium oxide

(D) Calcium sulphate

25. oiemen1sg) siflg CaijLonis: s G
SligliLienLwinest Seuflold

@z n@Sluilev 2 eiteng)

(A) 15-6ug Qgm@SHluilev

(B) 14-6ug) Qsn@gullev

(C) 13-6ugy Qam@Huilsy

(D) 16-6ug) Qsn@Hullev
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The element which is an essential constituent of
all organic compounds belongs to __________

group.
(A) 15" group (B) 14" group
(C) 13™ group (D) 16" group

26. "sneon oEnemn’( Kala azar) enu@ssgin
UGy BL@ameuest ((H Q&6 QL (Hevorevnil) 618)?
(A) wluGestT@amom GaLilwiesTeiv

(B) 6ServGuoesflwim GLmestmeumestl

(C) eServ@Buoesfilwim wymiléem

(D) LNemmeru@Lomiguid emeu6uNs6M

Which protozoan causing Kala azar?

(A) Trypanosoma gambiens

(B) Leishmania donovani

(C) Leishmania tropica

(D) Plasmodium vivax

27. evnmpgenevt(Rserflstt QUngleunest S8 HCethm

Hlemev

(A) +2 (B)+3

(C)+4 (D) +2 and +4

Most common oxidation state of Lanthanides
(A) +2 (B)+3

(C)+4 (D) +2 and +4

28. aflihg G&6vellev anwenICnm HICLsL eTeyd
Qpnfleow  sNHGL  AHHCIMCsmDd  erpDemLw
wrmun

(A) emev@en@eamibd

(B) eoyGunGzmid

(C) Gamevema 2 mILiLy

(D) emol GLnBamesti_fluum

In sperm acrosome produces hyaluronidase
enzyme. The acrosome is modification of

(A) Lysosome (B) Ribosome

(C) Golgi apparatus (D) Mitochondria

29. (& flwesflev sneswriLBD sunA&sefletT Semey

(A) 7.8% hydrogen, 92% helium and 0.2% @sy

QUMULISSH6IT
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(B) 92% hydrogen, 7.8% helium and 0.2% @sy
QUM SHSH6IT

(C) 0.2% helium, 92% hydrogen and 7.8% @sy
QUM SH&H6IT

(D) 92% helium, 7.8% hydrogen and 0.2% @&
QUM SH&H6IT

The proportion of gases consist in the sun is

(A) 7.8% hydrogen, 92% helium and 0.2% other
gases

(B) 92% hydrogen, 7.8% helium and 0.2% other
gases

(C) 0.2% helium, 92% hydrogen and 7.8% other
gases

(D) 92% helium, 7.8% hydrogen and 0.2% other
gases

30. @pHlwnailest (W&EwW efles S eusmbd

(A) QuLGrmeSlwid (B) Hlevsaifl

(C) @umens erflouny) (D) gl 2pHM6Y
The major energy resource in India is

(A) Petroleum (B) Coal

(C) Natural gas (D) Atomic energy

31. @ssLLLL Tuulj glesoih 615N (G eTHSHSHISSHTL(H
(A) Qués oppdmed  (B) Blewev phmeb

(C) Qeutiu @pdmed (D) letT SpHMED

Stretched rubber chord is an example for

(A) Kinetic energy (B) Potential energy

(C) Thermal energy (D) Electric energy
32. IF7 eypevsganflev 2 eitem Q6u1s &60LIL|

(A) SP® (B) SP*d»
(C)SP*d (D)sp3 d?
The hybridization in IF; molecule is
(A) SP® (B) SP*d»
(C)SP*d (D)sp3 d?

33. “eonow euriif) BNLIgetT HLEO6ETTE HL(HLUIL(HSHID
QM) SMWLILUMGL” — el6oT emwowW  urkElHE,
Q6V5:5608TID 6U(5S5HS6UI)
(A)H.A. Shaw

(C) Hawtrey

(B) Adam Smith
(D) Samuelson
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defines a Central Bank”, as a bank

which controls credit.”

(A)H.A. Shaw (B) Adam Smith

(C) Hawtrey (D) Samuelson

34.19906v Geusmev eumiiLmHGmmiflesT eTevvTevvilsens
_______ Sleveslwiest

(A)28 (B) 52

(C) 48 (D) 72

In 1990 unemployment was _____ million

(A)28 (B) 52

(C) 48 (D) 72

35. 2. 6v5 auraluiletT HEMEVEMNDWISLD 6TTEI(G61TENZ)I?
(A) Bluwmis, Qs

(B) svetaTL 63T, @ratdlevnb g

(C) sunafImiL_ett, QWO SE&T

(D) Gymd, @55 M6)

Where is the headquarters of world bank?

(A) New York,USA  (B) London, England
C) Washington, USA (D) Rome, Italy

36. eYeus6uT Sp5&HSDG SpSMLNS allenmsi(Geas)]
(A) peaiB (B) @evey
(C) Gzudliiy (D) eflemevaeit

‘Capital formation’ depends on

(A) Investment (B) Expenditure

(C) Savings (D) Prices

37. Nebreu(meussteun)6i 618 wemm(ps euifl?
(A) Qansg) eurfl (B) Q&sve 6urfl

(C) Gzemeu surfl (D) eu(mLomeut 6urfl

Which one of the following is an indirect tax?
(A) Wealth tax (B) Expenditure tax

(C) Service tax (D) Income tax

38. sevLiy QUIN(HEMMSMILD 6T65TMMED 6T6T6uT?
(A) #lLglemm WLHMID Sesiwmy glemm

(B) sesflwm glemm wHmid Qung) glemm

(C) Bijeuns gien wHDID B Slevw

(D) wribleo gienm LHDID WSS W GieOm
What is mixed economy?

(A) Legal sector and Private sector

Learning Leads To Ruling
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(B) Private sector and Public sector

(C) Administration sector and Judicial sector

(D) State sector and Central sector

39. ‘@hHlu  smisp oEIMLES  emuowid’

S0 GI6T6m GL LD

(A) L6oTr, LA TmeIpTLD

(B) surmyevtd, 2 5 7LpGs&L0
(C) QumISEBT. SHBTLSLD

(D) Gemevett, @on&aev LTGs&LD
The ‘Indian Vegetable Research Center is located
in

(A) Pune, Maharastra

(B) Varanasi, Uttar Pradesh
(C) Bengalure, Karnataka

(D) Solan, Himachal Pradesh

40. y&Hw sevails Q& meTen&HevIL
SIMpsUUEGSSweury

(A) yredeu &b (B) @bl &mb5)

(C) afl. . (D) GzeusemLm

The New Education policy was introduced by

(A) Rajiv Gandhi (B) Indra Gandhi

(C) V.P.Singh (D) Deva Gowda

4]. sl (B5 GQ&netenen eletTUSME CHemeuliL(Hid
(SODHSLILE BLITS6IT

(A) epstr) (B) prissis

(C) mba (D) @b

What is the minimum number of persons required
to constitute Dacoity?

(A) Three (B) Four

(C) Five (D) Six

42. @nHwu  GevviLenest FLLEHenT B Heofl
QB MeLEM6V5 (G HleDIL 58 Falgl ST &6 618 56060T
(A) @@ Siey LB

(B) @n65u1(5 Si6usssiT L (H1b

(C) eysdimy Sieuseir L (Hibd

(D) Seusser 751> Gevemev

Under Indian Penal Code, the number of remedies
available for “Private Nuisance” is
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(A) One remedy only
(B) Two remedies only
(C) Three remedies only
(D) No remedy
43. Qung QFnsgIsEeT Aensliy (SOHLIL) FLLIb-
198461 wy ‘Qungy  QEnsg”  etetiug)
S & 6voTLuMHEmM 2 6TT6ML 8L
L. smww sinflett Q&FNSS)
2. oblev HpFlest QEnSHg)
3. Bmieuertraiserflest Q&g g)
4. Blm|riserflesr QEnsg)
Speaupeussteummilest iflwnest @Guuih Csiey
QEws:
(A) 1w (pw &l (B) 1 wpmid 2 &ifl
(C) 1, 2 wpmib 3 &ifl (D) 1,2 whmid 4 &ifl
As per the prevention of Damage to Public
Property Act, 1984 “Public Property” includes,
property owned by
i. Central Government
ii. State Government
iii. Company
iv. Corporation
Choose the correct answer from codes given
below:
(A)ionly is correct
(B)i and ii are correct
(C)i,ii and iii are correct
(D) 1i,ii and iv are correct
44. @5 wmblev EHBT 2 6vvTeniowest Hljeunss
SHenevauns Q(HSELW SHMevld
(A) LLQL Fal LSBT BLE&@GSLEUNG)
(B) gL LwestmhiISHensT ol (B Gung)

(C) o16u8TT Hlemev &mevriseriley

(D) Ga g6y &MevgHlev

The period during which the governor of state acts
as the real of the executive is

(A) Budgetary session

(B) Convening of state legislature

(C) During emergencies

Learning Leads To Ruling
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(D) During election

45. @nSHwnallév (a6 (PHedlev Revteumflwing seufl
HrSblHsgiusens Siflpaiu@ssiu sl

(A) @b 7&& LD, 1909

(B) @bsw s gL, 1919

(C) @b ip&& &L ib, 1935

(D) @bsw &sbS5nE FLL LD, 1947

The separate communal electorates was
introduced in India for the first time under the Act
of

(A) Govt. of India Act, 1909

(B) Govt. of India Act, 1919

(C) Govt. of India Act, 1935
(D) Indian Independence Act, 1947

46. @5 yendHluSlenw Cxi0H[HEESWD SieMoLIL|
(B) hl& 81600

(D) &L esTID

(A) umm(ETLOESTLD

(C) Gaiour G
The body that elects the Indian President is

(A) Parliament

(B) Judiciary

(C) Electoral College

(D) Legislative assembly

47. Sipssevoeummiet FLL ST pL A0 ubHplw
SUMITeTT Fa M| 615]?

(A) FLLSS6IT (61T Siem6BTOU(HLD FLOLD

(B) #LL1> erp&e)

(C) &L 1b GetTemIOWITEsIg)

(D) =1iglamflsEnée SHpil 5@

Which is wrong statement about “Rule of Law"?
(A) All are equal before the law

(B) Legal spirit

(C) Law is supremacy

(D) Special status to officials

48. SssevoreudmIeT LMYMEDHWLETH  (Wenmuiled
Bevevng g 6157

(A) Qu(pLbuNesTemLD QBmesoTL S dlullesT oyl &

(B) tinswoiflest semevenio

(C) Bpemeuenil 6608 GO HSHSTITLD
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(D) @hevm semevemio

Which one of the following feature is NOT in the
Parliamentary systems?

(A) Majority party rule

(B) Leadership of Prime Minister

(C) Dissolution of Lower House

(D) Single executive
49. esteu@o  QeweounBseflev  omeulL
SpLAWNTeL QFWeLLBEHHULTS 65Tm)]

(A) s HMID (Lprai@ LFMIfILILIZ)

(B) lev eu(meumil su@edlLiLglev

C) B8 eulpraigev

(D) &¢wps mevld

Which one of the following functions is NOT
performed by District Collector?

(A) Maintenance of Law and Order

(B) Collection of land revenue

(C) Dispensation of Justice

(D) Social Welfare

50. ___________ eteoTUg) B I&UMLIEsT (pS6v

ol L 6nOLILIM(GLD

(A) 1948-6t1 aHW B & sLLLLML(H FLLLD

(B) 1960-6v @rbswimeilest &HEHW &L L LD

(C) 1945-6t1 @bl wimeflest [ FLLLD

(D) 1950-607 oSS FLL LD

Which is the first federal foray into water

pollution?
(A) Federal Water Pollution Control Act of 1948

(B) Federal Act of India 1960
(C) Federal Water Act 1945

(D) Federal Act of 1950

51. $&) yesymiley (weom QuoLLLL BIE

(A) s1Qwfl&sn (B) @radlevnb g

(C) MNiyresTerv (D) opeodGrelwim

The concept of Judicial review was borrowed from
(A) USA (B)UK

(C) France (D) Australia

Learning Leads To Ruling
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52. @Slwneflev suestailevri@ &6t LNGISMLILE FLLID

Qs mevot(h euULILLL S4,6801(h

(A)1970 (B) 1972

(C) 1960 (D) 1962

The Wildlife Protection Act was passed in India in
(A)1970 (B) 1972

(C)1960 (D) 1962

53. WwsIwenev  eustTallevnhiGEeT  FeUBITELLILD
SI6DOIHG 66T GL LD

(A) @umegervgmest (B) fls&lid

(©) 8ApBE (D) Saunrry

‘Mudumalai Wildlife Sanctuary’ is located in

(A) Rajasthan (B) Sikkim

(C) Tamil Nadu (D) Bihar

54. SMLE  Hemns  F6UoTMEVWILD 6TMEI(S,
SI6DIOTHG6TT6NE)?

(A) S16iv6r0mMId (B) ®221m5

(C) wamymervg M (D) s19pmBH

The Wild Ass Sanctuary lies in

(A) Assam (B) Gujarat

(C) Maharashtra (D) Tamil Nadu

55. sgmywellév 2 6item HKYM 6T60TMH CUMTHEMS 6THS
B eeSl(Hbg CUMLUILILLS)?

(A) oot (B) uhevriissm

(C) swsnm (D) sgtiuimest

Cyclone Gaja — the word “Gaja” named from in
which country?

(A) CHINA (B) SRILANGA

(C) SUMTHRA (D) JAPAN

56. @bHwneflesr WlasuGQuiflu  sSMTHLHTENEL
LIGTUTEBIGUTT 6TTEI(S) HEDUDIHS6IT6NG](?

(A) &g (B) puiLbsen

(C) 2(pemev (D) prélyyid

Where is located India’s largest wind mill farm?
(A) Kamudhi (B) Muppanthal

(C) Udumalai (D) Rasipuram

57. 2 60£1GsuBu 1618 Bemonest Lemey LsienszneS
61517
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(A) swest Llemey LIsTeNSSHTE S,

(B) miwsm opmmi Llemey LsTenssmé s,

(C) epriiiflgasmailsyisem QLB Lilemey LISTENSSTE S
(D) el Hlw Lermey LIsTeN&SNa (&

Which is the longest rift valley in the world?

(A) Rhine rift valley

(B) Narmada river rift valley

(C) The great rift valley of Africa

(D) Vindhya rift valley

58. @b Hwnailest (pa&Hw enflesH) suemd

(A) QULGHTeflwid (B) Hlevssifl

(C) @uibens erfleumuy (D) Sigmml @pHmed

The major energy resource in India is

(A) Petroleum (B) Coal

(C) Natural gas (D) Atomic energy

59. @&flu wesTLevGHev ‘Heuy Hnsw' etevt

SenpssULbHeug) 61817

(A) y (B) @&sueumi

(C) eflwmpest (D) zeufl

Which is called ‘Red Planet’ of Solar system?
(A) Earth (B) Mars

(C) Jupiter (D) Saturn

60. QaevesllibHw SuspHussHest e 2wiHS
wenev&FagD ___________ 6T6BTLISM(&LD.

(A) umev&STL(h HevsTEUMLLI (B) opement(pln
(C) @smL QuiLLm (D) &mjGev
Highest peak in South Indian Peninsula

(A) Palaghat pass (B) The Anaimudi

(C) Doddabetta (D) Karle

6. If x = 3+2v/2, then find the value of (vx — \/i;)
a.l b.2

c.2v2 d.3v3

X = 3+24/2, teafled (VX — )-6b1 ol ssriegor

a.l b.2

c.2v2 d.3v3
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62. The L.C.M. of two numbers is 495 and their
H.C.F. is 5. If the sum of the numbers is 100. Then
their difference is

a.10 b. 46

c.70 d. 90

B eevnsEnsGflw 1B5AM wHOy 495. Guoeyd
Seuall(p erevmseflest BUQUE wHIY 5. Q@
elevoiseflett Fal (B Qsmema 100 etevflev jeuall(m
eTesorsseflest aflHHlwngid eredTLIg)|

a.10 b. 46

c.70 d. 90

63. In a class of 60 students, the ratio of boys and
girls is 2:1. How many boys and girls in the class?
a. 40, 20 b. 30,30

c. 20,40 d. 25,35

60 CGuj Oa&nmeoiL 6B eu@LLiley LmevTey,

nessiail&EnsE QenL Guwnes efllHgw 2:1 erevfley,

Si6ueau(GLiLilev LDIT6TOT6, wresotailgerflest
eTevvTevDlS6mas Wing)?

a. 40,20 b. 30,30

c. 20,40 d. 25,35

64.I1f A:B=57andB:C=6:11.Thenfind A:B:C.
a.55:77:66 b.30:42:77

c.35:49:42 d. None of these

A :B=5:7 wmmib B:C= 6:11 etevflev A : B : C smevor
a.55:77:66 b.30:42:77

c.35:49:42 d. srgiaLslebemen

65. The simple interest on a sum of money will be
Rs. 200 after 5 year. In the next 5 year principal
amount is tripled. What will be the total interest at

the end of the 10™ year?
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a. Rs. 800
c.Rs. 700

b. Rs. 650
d. Rs. 600
QR COB5Tens5 56T Hevfl aullgwinestg) 5 au(HLSSlev
em. 200 SiemLEMEI. S1(HS5S 5-auBLSS6v (PS50
Qnenswnestg 3-wLESISEIDS sefley 10-au(HL

wyeailv HeLsGw CQOIHE eully CHTOS

eTeuaU6N6eY?
a. Rs. 800 b. Rs. 650
c.Rs. 700 d. Rs. 600

66. Find the missing term

AZ,CX,EV,__, IR

a.GT b. MN
c.BY d.DW
allGuLLeng sevor(hLilly

AZ,CX,EV,__,IR

a.GT b. MN

c.BY d.DW

67. How many diagonals are there in an nonagon?
a.36 b. 27

c.18 d. 20

Q@ BauCasnewigdHlev e1HHem6nT eYemevaill Lkiger

2 eiTement?
a. 36 b. 27
c.18 d. 20

68. Find the largest Number among v2, 14,1/3
a.v2 b. V3

c. V4 d. all are equal
Lereu(meustteupmiet Quifiw eteser e151? V'Z, V3, V4
a.v2 b. V3

c. V4 d. SiemeTTBGID FLod

69. If /2" = 64 then find the value of n

Learning Leads To Ruling
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a.2 b.4

c.6 d.12

V2" = 64 etesflev n-6it WS Seser
a.2 b.4

c.6 d.12

70. Find out the missing number of series

71. If the cost of fencing a circular path at the rate

of Rs.5 per metre and the total cost is Rs.1100, then

the radius of the park is
a.35m b.7m
c.55m d.llm

QU aulL eugeu Yrustallh@ Geuell Gum. &

BLL@&SE em. 5 aisbd em 1100 @ eresfley,

yrusrellest Sy eTedTLIS)|
a.35m b.7m
c.55m d.llm
72.280% of 3940 =?

a. 10132 b. 11032
c. 11320 d. 11230

3940-6v 280% eTeucuerney?

a. 10132 b. 11032

c. 11320 d. 11230

73. The rates of simple interest in two banks A & B
are in the ratio 5:4. A person wants to deposit his
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total savings in two banks in such a way that he
received equal half yearly interest from both. He

should deposit the savings in banks A & B in the

ratio
a.5:2 b.2:5
c.4:5 d.5:4

A omb B oFw  Quessih  euraiflserflet
sesflaulpsanen euligwneoig) 5:4 etetim ailHlss 560
26iT6Mg QUHAUT BTG  (PWLSOSTENSHEMLIWLD
Qresoi( euraiHlsefleyid 6o QUL QUL lgwinestg)
dflss  ©»seSE

QewHopny  eefld  euf  WHSH QFELG

FOLNS  QHEHSGDUIWITS

Qsnenswneng) 6Hs all&ElesHlev Q(HE G

a.5:2 b.2:5

c.4:5 d.5:4

74. Find the cost of carpeting a room 13m long and
9. Wide with a carpet 75 cm broad at Rs.8 per meter
a. Rs. 1240 b. Rs. 4248

c.Rs. 1248 d.Rs. 156

75 @Q&.15 Sizevd QanesoL Heoy allfliiflesr aflemev
L (58S 8 ermumil erevfley, 13 SLLG Bembd 9 5L L
G6VD QISITETTIL QI MM (LP(LEUGID HHG SHE0N]
aflifllienu Siem&Hs & CF6v6y eTedTevr?

a. ¢rm. 1240 b. emp. 4248

C. ¢rp. 1248 d. em. 156

75.1f £ = ¢ the value of =2 + L js
2y 7 x+y 19

13 15
a.— b.=
19 19

c.1 d1=
19

x 6 .o x=y 14 . . s
— = -, eTevfled —= + — -60T LOHIL| HN6TUTS.
2y 7' x+y + 19 ‘5] H
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13 15
a.— b.=
19 19

c.1 d 1=
19
76. In how much time will a sum of Rs. 1600

amounts to Rs. 1852.20 at 5% per annum compound

interest
a. 2 years b.1lyear
c. 4 years d. 3 years

erpumis 1600 o618 5% 24600100 Fal (B eully efsb

Qanevoi(y  e1HBeMenT Ipevvi(hsefleo em.  1852.50

DbG10?
a. 2 eu(pLLd b.1eu@HLLD
C. 4 su(pLLD d. 3 eu@pLLD

77. A is B's sister. C is B's son. D is C's daughter. A
is of D.

a. Grand Father b. Grand Mother

c. Son d. Daughter

A erettueury Buflett #@ansifl C eteotueurj B uflesr & eor.
D erstteury C ullsst oss6it stevflev A etestuieury D ullesr

a. HN&HST b. umiy

C. Lo&etT d. &eiT

78. Find the compound interest on Rs. 6250 at 14%
per annum for 2 years. Compounded annually
a.Rs. 1670.40 b. Rs. 1525.50

c.Rs. 1872.50 d.Rs.1175.70

1560 em. 6250 yeu15) 14% Fal (B auLlly (pemmuiley 2
SpTIBHEHSHE allLUulLT S5HsneT Fal(h
QUL lg S wng)?

a. erp. 1670.40 b. ers. 1525.50

c. 5. 1872.50 d. er. 1175. 70
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79. If%l = % and 8a + 5b = 22, then the value of ais

a. b.

NjonoAw
OVIN Nlw

c. d.

5= 2 opmub 8a + 5b

- 22, etevfléd a-6o1 &Y

SIT6UO15.
3 3
a.- b.=
4 2
5 7
c.- d. -
7 9

80. The simple interest on a certain sum for 3 years
at 14% per annum is Rs. 210. The sum is

a. 480 b. 600

c. 500 d. 630

6501 aully 14% etevtayd eetmnessi(hsefley 6w
@Qanensuilsst aully em, 210 etesflev SiHYH CFTens:

a. 480 b. 600
c. 500 d. 630

81. siSusHev er1GUNg), 2019 2 6085 CammilGuimus
Sevtd (WHD) QasmesotLmLLiLi’ L g?

[A] pLimev 8 [B] eptisv 9

[D] ejtirgev 10

On which date, the 2019 World Homeopathy Day
(WHD) is observed recently?

[A] April 8 [B] April 9

[C] April 7 [D] April 10

82. 26vfletT 1018 euWGNeST HMVLBSTLL aiyyns

[C] spLied 7

aflemmaHlw @ans Qanuils, ebs B enL&
Geimbgeuny?

[A] @6vGired

[C] #6ud) =1Grilwim

Isaak Hayik, who has become the world’s oldest
soccer player, is from which country?

[A] Israel [B]UAE

[C] Saudi Arabia [D] Iran

83. emb5 s6vall Himieusstid “"Flmrbs seveall Himieusotid”

[B] &1Q@Quwifl&sm
[D] et

eleotm 2019 GsHw  Himieuest  Hlijevonus
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sl Levwlllestmed (National Institute Ranking
Framework NIRF) Ggijey Qe&wwiinl {eiteng)?

[A] IIT — umbGu

[B] IIT — QoL _gmerv

[C]IIT - emije)

[D]IIT — &npméL, i

Which institute has been ranked as the ‘Best
Educational InstitutioN’ in the 2019 National
Institutional Ranking Framework (NIRF)?

[A] IIT-Bombay

[B] IIT-Madras

[C]IIT-Roorkee

[D] IIT-Kharagpur

84. @nHw sLmuenLullett emhy Gumy SLLeL
usttestn (B sLevamy uuilm# “Cutlass Express 2019’
-6v UBIGEHMHME)?

[A] INS geveury

[B] INS &iflgsv

[C]INS LsnysesorL_

[D] INS gijsneip

Which warship of the Indian Navy participated in
the multinational maritime exercise ‘Cutlass
Express 2019"?

[A] INS Talwar

[B] INS Trishul

[C] INS Trikand

[D]INS Tarkash

85. Qgmsl evmeviflesiism (Jeremy Lalrinnunga)

abs eflenemun (b glemmenw Canmbgeur?

[A] 35 8)556vs6emIL [B] ego@Lnm

[C] uEBETEEH60 [D] wevw&sLo

Jeremy Lalrinnunga is related to which sports?
[A] Boxing [B] Judo

[C] Weightlifting [D] Wrestling

86. Let's talk on air: conversation with radio
presenter erettm Hedlest oy Aflwy winmg?

[A] anfl(refl &8s & evvTesUTSsT

[B] o116t swissfl
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[C] oiemunns LimeseTGL

[D] p@aeip oyev1rHS Ligad

Who is the author of the book “Let’'s Talk On Air:
Conversations with Radio Presenters”?

[A] Hrishikay Kannan

[B] Ameen Sayani

[C] Anuraag Pandey

[D] Rakesh Anand Bakshi

87. wsHw eflenemun(hs giemm QFweonns UHsns
Hlwsls s L L el wmj?

[A] p(gev LLBaIT

[B] prism sipwimd sg®svmesfluim

[C] e\ @erTrs; Fanm

[D] Lifgid @y

Who has been appointed as the new Union Sports
Secretary?

[A] Rahul Bhatnagar

[B] Radheyshyam Julaniya

[C] Vinod Sahay
[D] Preetam Kumar

88. a5 CaHlufley, GeuefiEnBeump QibHwiy SHlevrd
Q&nesorLmL UG EImG)?

[A] sg6vT601f1 8 [B] sgevt6uifl 9

[C] sg6vT6u1f1 6 [D] eg6wt6uifl 7

On which date, the 2019 Non-Resident Indian Day
is observed recently?
[A] January 8

[C] January 6

89. My BENSHEL, 6opeus QPHHW CuesTTs: 6T
Qunens allipn HemL QUMey6iTeng)?

[B] ug glsvel)

[D] gevoTiEy

[B] January 9
[D] January 7

[A] Gumumsv
[C] uGeur
Which city is the venue of the 6th Women Of India
Organic Festival 2019?

[A] New Delhi [B] Bhopal

[C] Hyderabad [D] Chandigarh

90. 5jeuBs & &l SpMHMEL HLP&5H6T Hemeveunns
QumGumHMIsTeT (PZH6v PrbSHwiy wimy?
[A] 8758 rEepassT
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[B] Niyesoreu R G s

[C] by A G5

[D] melest (gLomy

Who has become first Indian to head Global Solar
Council (GSC)?

[A] Kirti Ranjan

[B] Pranav R Mehta

[C] Mayur A Seth

[D] Naveen Kumar

91. ievuremouiled smmevwonest GONGesT FruGTEFEmfl,
sl SIpnbHws Hlennujevdlev ess Henns seng
6T(Lp& S MEMII6UIT?
A) D

C) QeI
Mohan Rangachari, who passed away recently,
was the ace scriptwriter of which regional
cinema?

A) Tamil

C) Kannada
92. oIQwfss FHHE shIsESHsT (American

B) wemevwimerid

D) &e6tT6wTL LD

B) Telugu
D) Malayalam

Philosophical Society — APS) 2 miiiflestyna Qisifley
Qewwiu Heiter @bHwiy wimj?

A) allgnw G&s

B) @Qnmdleor gmiiui (Romila Thapar)

C) Gasz6t LUsS

D) oz Gameip

Which Indian personality has been elected as a
member of the American Philosophical Society
(APS)?

A) Vikram Seth

B) Romila Thapar

C) Chetan Bhagat

D) Amitav Ghosh

93. emmn( ‘IndSpaceEX' eetim Hevim (PH6L
2 (HeusLILHSSLUILLL aflessrQleuefl
GumjiuuiipAeows (Simulated Space Warfare
Exercise) pL&5 (Wi Q&g eiTeng)?

A) @55med B) @6ivGisd
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C) @CanGsmrglwim D) @mp&Hwim

Which country has decided to conduct its first-
ever simulated space warfare exercise
‘IndSpaceEx'?

A) Italy B) Israel

C) Indonesia D) India

94. unun e SyTMLES emwws et (BARC) yHhw
Buis@eons Hluwslé UL (B eiTemeury wmg?

[A] Satheesh Reddy

[B] Ajit Kumar Mohanty

[C] Koppillil Radhakrishnan

[D] P S Murthy

Who has been appointed new director of Bhabha
Atomic Research Centre (BARC)?

[A] Satheesh Reddy

[B] Ajit Kumar Mohanty

[C] Koppillil Radhakrishnan

[D] P S Murthy

95. fletTevToNy 2.6V8 FMHENCTILMETIHET LISHS5HSHSHSH60
2 6ufl60 UMD LIPEMIDWINETT BUNNS WMy Gy
Syl jeulons QuuiflLiulLg)?

[A] Kane Tanaka [B] Nabi Tajima

[C] Violet Brown [D] Chiyo Miyako

Who has been officially named as the world's
oldest living person by Guinness World Records?
[A] Kane Tanaka [B] Nabi Tajima

[C] Violet Brown [D] Chiyo Miyako

96. @nHwneilstt yHw H GQewevnemns (FS)
Hlwidl&asiulLsul wmg?

[A] Atanu Chakraborty

[B] Ajay Bhushan Pandey

[C] Subhash Chandra Garg

[D] Rajiv Kumar

Who has been designated as the new Finance
Secretary (FS) of India?

[A] Atanu Chakraborty

[B] Ajay Bhushan Pandey

[C] Subhash Chandra Garg

[D] Rajiv Kumar

97. WHO afle&s gemevenio  aflghepnesiluns

Hluwslssiul L @bHw SigHiblS wmg?
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[A] Mylswamy Annadurai

[B] Subbiah Arunan

[C] Moumita Dutta

[D] Soumya Swaminathan

Which Indian personality has been named Chief
Scientist at WHO?

[A] Mylswamy Annadurai

[B] Subbiah Arunan

[C] Moumita Dutta

[D] Soumya Swaminathan

97. “Gs1b G&(gh&1]" eTetTan)Id MHT6Y, LiletTou(BID 6THS 8
HiflsesL aififlesr swaflengwm@n?

[A] susssmy wevflen

[B] gm@eus Blwinbzs

[C] epmanl il

[D] @wrmest smest

The book ‘Game Changer’ is the autobiography of
which of the following cricketers?

A] Waqar Younis

B] Javed Miandad

C] Shahid Afridi

D] Imran Khan

99. BLULNeTHI(R 2608 Q& (ERFlevIeneu HleuTsF)|& simevt
&(HLIGILIM(HET 6T60T60T?

[A] #peace

[B] #love

[C] #humanity

[D] #unity

What is the theme of the 2019 edition of World Red
Cross Day?

A] #peace

B] #love

C] #humanity

D] #unity

100. mLUUNEHIR 26v8 SHeoFslum Hlevrs g smeot
S(HLIGILIM(HEIT eT60T60T?

[A] Access to Safe & Effective Drugs in
Thalassaemia

[B] Economic Recession: Observe — Joint Forces —
Safeguard
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[C] HealthEnhancing partnership towards patient-
centred health systems

[D] Universal access to quality thalassaemia
healthcare services

What is the theme of the 2019 edition of World
Thalassaemia Day?

A] Access to Safe & Effective Drugs in
Thalassaemia
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B] Economic Recession: Observe — Joint Forces —
Safequard Health

C] Enhancing partnership towards patient-centred
health systems

D] Universal access to quality thalassaemia
healthcare services
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f@)
>
j@)
O
o
')

A A A A
1) C 21) B 41) C 61) B 8l) D
2) B 22) B 42) C 62) A 82) A
3) D 23) A 43) B 63) A 83) B
4) D 24) B 44) C 64) B 84) C
5) C 25) B 45) A 65) A 85) C
6) B 26) B 46) C 66) A 86) D
7) C 27) B 47) D 67) B 87) B
8) D 28) C 48) D 68) C 88) B
9) B 29) B 49) C 69) D 89) D
10) B 30) B 50) A 70) C 90) B
11) A 31) B 51) A 71) A 91) A
12) C 32) D 52) B 72) B 92) B
13) A 33) A 53) C 73) C 93) D
14) A 34) A 54) D 74) C 94) B
15) D 35) C 55) B 75) C 95) A
16) D 36) C 56) B 76) D 96) C
17) B 37) C 57) C 77) B 97) D
18) A 38) B 58) B 78) C 98) C
19) B 39) B 59) B 79) B 99) B
20) A 40) A 60) B 80) C 100) D
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